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O 48 +2x6 @ 48%x6+2 ® 6x48 +2
@48+(2x6) ® 48 % (6+2)

B

D48 +2x6=24%x6=144
@ 48x6+2=288+2 =144
@ 6x4+2=288+2=144
@48+ (2x6)=48+12=4
@ 48x (6+2) =48x3 =144
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15+5%x20-10

@(15+5)><20—10 @ 15+ (5%20)-10
® 15+ 5x (20 - 10) @ (15+5%20)-10

® 15+ (5% 20 - 10)
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50-8%x24+10=+2

@50—8x(2+10)+2 @ (50-8)x2+10+2
® 50— (8x2)+10=+2 @ 50-8x2+(10+2)

® 50— (8x2+10) =2

~&B

@D (50 -8 x 2+ 10) + 2 = (50 — 16 + 10) + 2
=22

@ (50-8)x2+10+2=42x2+5 =89

®50-(8x2)+10+2=234+5=39

@50-8x2+(10+2)=34+5=39

® 50— (8x2+10)+2=>50-26=+2 =37
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16-6-+8+2
@® 16— (6+8)+2 @ 16-6+(8+2)
® (16-6)+8+2 @16—(6+8+2)

® (16-6+8) =2
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184 — 78 = 106
106 x 6 = 636
636 ~ 3 = 212

D 184 —{(78x6)} +3 =212 @ 184—-T78x{(6+3)} = 212
@{(184—78)x6}+3:212 @ (184 —78) x {6 + 3} = 212
® 184 — {(78 x 6) + 3} = 212
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(184 -78) x 6 + 3 = {(184 - 78) x 6} + 3 = 212 7} & A o|r}.




7Tx30+20+5-1

@7x(30+20+5)—1 @ (7x30)+20+5-1
® 7x(30+20)+5-1 @ 7x30+20+(5-1)

® (7x30+20)+5-1

~&B

D7x(30+20+5)-1=7x34—-1=237

@ (7x30)+20+5-1=210+4-1
=213
@ 7x(30420)+5-1=7Tx50+5-1=69
@7%x304+20+(5-1)=7%x304+20+4 =215
® (Tx30+20)+5-1=(210+20)+5-1
=230+5-1
=46-1
= 45




